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A. Cr, chrome, chromium(Z2 &)
B. green ceramic
C. galvanic corrosion(Z HfL| £ Al)
D. Acute inflammation(&4d 9%)
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ii. 37

Consider that we have an average data from n recordings (V.,) and the (n+1)th recording is just
acquired (Vj;1). Then, we can update V., with a new average of (n+1) recordings in real-time as

follows:

(n+1) _
=

Vy4p +0 V;ﬂé]
3. % 1148
i. Plasmid : small, mobile piece of DNA found in bacteria that, for example, confer antibiotic
resistance, used in genetic engineering. Plasmids are separate from the bacterial chromosome
but still multiply during cell growth a kind of vector, it used to carry a gene from one organism
to another- 37 (0| Fk 7|&5I%E 8% R28F Nal)
ii. coherence length - 27 (A 222 MAEHS}7{ L}, coherent lengthe HE H2|)
iii. 37H2| set RHL2 (1)Q FEO| U2t Q)2 ™S Ch=A M2l (1)0] E3 8% B)As2E)
- 6%(2 27)
(1) PET fMRI NIR or NIRs
(2) BOLD effect BOLD effect BOLD effect

(3) Yes, FDG(fludeoxyglucose) No No
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